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SECTION-A

The depth of sowing seeds of dwarf wheat should be: 1. 9™ ﬁé 3 W 7 o & ‘1’5‘0’% g1 =eT:
1) 2.0cm (1) 2.0 9.
h (2) 4.0 FF.
(3) 6.0cm (3) 6.0 3.
(4) 8.0cm (4) 8.0 a.
The place of origin of pearl millet is: 2. 9 H IR N &
(1) Africa (1) e
(2) Canada (2) =eT
(3) U.S.A. ) g w. T
(4) Japan (4) S
Weedicide controlling Phalaris minor in wheat crop is: 3. @daR TS R S ﬂ'{ H wEA § ﬁ%':FIT Tt e @
1) Atrazin 1) TgeiE
h (2) SEESA
(3) Paraquat (3) TR
4) 2,4D (4) 2-4-3
Time of transplanting Boro paddy is: 4. I 99 H AE T ETE
(1) March 2) Jul 1) = (2) g
@ Auges (@ December @ e @ fr
Scented variety of rice is: 5. g9 # g’ﬂﬁﬂﬁ Sl &
(1) 1R-24 (1) STE-3TR -24
(2) Narendra -1 (2 = -1
3) Saket —4
h @) @l
Kernal of groundnut contains oil percentage of: 6. T’I‘Rﬁ & Al & o@ wfea 2
1) 20 (2) 32 (1) 20 (2) 32
h (4) 64 (3) 48 (4) 64
Optimum diameter of potato tuber for seed is: 7. &= 3 A P< B AHET =0T &
1) 1.5cm. (2) 2.5cm. (1) 1.5 &, (2) 2.5 .
(3) 4.5cm. (4) 5.5cm. (3) 4.5 TW. (4) 5.5 9.
Firstirrigation in dwarf wheat is scheduled at: 8. dm ?Ié ¥ o iR freiRa @
1) 10-15DAS (1) 10-15 RF g8 9=
@ 2025 DA @ 2025 Pt g7
(3) 35-40 DAS (3) 35-40 A AR =
(4) 50-55 DAS (4) 50-55 & g% 9=
Which of the following nutrients is beneficial but not 9. e qveaEl § B9 o qEf B R AEEE T A
essential to plants? @ @ s 37
(1) Calcium (2) Sodium (1) B (2) g
(3) Iron (4) Boron (3) aMear (4) I
Plant nutrient increasing disease resistance in plants 10. argt & T Ay g %ﬁ TRy QY% T
is: (1) EENE
(1) Nitrogen (2) FERRE
2) Phosphorus (3) defEw
“ @) T q PR T
(4) None of these

[A-1] 44_Trainee (Store)
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Soil structure appropriate for crop production is:

ili Columnar (2) Oblique

(4) Compact
Suitable day temperature for growth of main Rabi

crops is:
(1) 5-6°C iZi 6 —8°C
(3) 8-10°C

Essential micro-nutrient is:

(1) Potassium
(2) Calcium

iSi Sulihur

Form of zinc adsorbed by plants is:
(1) zZn"

(3) Zn+++
(4) None of These
Symbiotic bacteria is:

(1) Azotobactor
(2) Algae

i3i Funcl;i

Green manure crop providing maximum nitrogen is:

ili Moong (2) Guar

(4) Lobia
Material used to control acidity in decomposition of
compost is:

(1) Urea
(2) Ammonium sulphate
(3) Potassium sulphate

Proper method of crop production against slope is:

ili Croi rotation

(3) Dry farming
(4) None of these

Percentage of sand in clay soil is:

(1) 80% izi 70%

(3) 50%
Proper method of application of DAP is:

(1) Broad casting
(2) Seed mixed

i3i Solution form

11.

12.

13.

14.

15.

19.

20.
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FHAIE 3 SUgw T e &

(1) &R (2) fd=s
OREIRELD] (4) w3d

e T HEe & g% og 1’ H g Al &

(1) 5-6°C (2) 6-8°C
(3) 8-10°C (4) 27-29°C

HEAEF FEH 99 qd o
(1) arfaem

(2) HeEH

(3) TEH

(4) FEW

Qe g A S = &9 R
(1) zn"

(2 zn™

(3) Zn+++

(4) T q g 7T

Heotal shary] 2:
(1) TSRy
() YT
(3) ®HTH

(4) ESiteEw
&l T # Ed Ned afemad T w8

1) T (@) @]
(3) &% (4) e

;@w%wﬁmﬁﬁw%gqﬁw%&aﬁwwﬁ
1) IR

(2) MM e

(3) TrRfIEm The

(4) =@

T B fudia weaae & SR fafy @

(1) %9d b
(2) ERR Tl
3) I it
(4) T & P T

fol ga1 § a1 # sioe @

1) 80% (2) 70%
(3) 50% (4) 30%
S T . % W # Sha fly ¥

(1) &T® &

(2) s § et
(3) 99 % &9 H

(4) SIS & o %St A
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21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

Best method of irrigation in wheat from canal is: 21.
(1) Flooding
(2) Check—basin
iSi Rinc.; method
Proper time to use simazine for control of weeds in 22.
sugarcane is:
(1) Before planting (2) Before germination
(3) After germination (4) None of these
Suitable soil for plant growth is: 23.
(1) Sandy (2) Loamy
(3) Clay loam (4) Clayey
Steel used in construction of agricultural implements is:  24.
(1) Mild steel
(2) High carbon steel
iSi Soft centre steel
Plough clearance is: 25.
(2) The amount of grass cleared under the Beam
(3) The curvature of the Beam
(4) Depth of the furrow
Scraper is used for: 26.
(1) Ploughing small fields
(2) Taking soil from one place to another
(4) Grass cutting
Interculture of crops is done for: 27.
(1) Aeration of soils
(2) Uprooting of grasses
i3i Conservini moisture
Sahiwal cow has which one body coat colour among 28.
the following?
(2) White
(3) Black
(4) Black with white patches
Breeding tract of Jamunapari goat is which one among  29.
the following?
(1) Chaker Nagar (2) Chamba
(3) Madhuwani (4) Aligarh
Which one is an exotic breed of sheep? 30.
(1) Bikaneri iZi Gaddi
(3) Kathiawari
[A-3]
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T d A A g o= =g fafy @

(1) varE

(2 @l fafy

(3) Srpet fafy

(4) W ugt fafy

T # TR FrEEe 3 et & @ & Ska w8

(1) TN & 9= (2) 9@ & Tew
(3) SHE % T (4) T8 q FE T

Ay gfs ¥ Shm Ta &

Q) =9 () ae
(3) faet qme (4) ferpeit

R = F T BN A W

(1) & "

(2) = & W™

(3) W& d=X W@

(4) SUGH a

T I AT o &

(1) =T & T= 9 T B
() =@ 3 9 9w F
(3) & @ MAHR A
@) %3 # Ew

IEA B SN R S e

(1) BR @qt ¥ aE = 3

(2 & & & § TR WA T I & g
(3) THAA HA

(4) 919 FeA

o= P fe S ¥

(1) W& & ear H FER HA B
(2) 99 @A 'Y

(3) T H HEWT FHA &Y

(4) SE a+f

= & ¥ DT 1 T T $ R # A R

(1)
() "=
(3) e
(4) P | % g

Al
Bl

S FH0 H Fo & e § & P R?

(1) TH TR (2) ==
(3) Hga (4) oTlTE

e & @ a9 @ Bt T @ A R0

(1) FE (2) T
(©REIERICIS] (4) AR
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

Edible part of Knol Khol is:
(1) Modified leaf

iZi Modified flower

(4) Modified root

Seed-rate of main season onion/hais:
(1) 2-4Kg

(3) 8-10Kg
(4) 11-12 Kg
Banarasi Karaka is a variety of:

(1) Banana
(2) Brinjal

iSi Bottle gourd

Nitrogen requirement of banana/plant is:

(2) 400 g.
(4) 800 g.

(3) 600 g.

Arka Harit is a variety of:

1) Bottle gourd (2) Sponge gourd

(4) Musk—melon

|

‘Banana Sweet' is a variety ofg

- (2) Musk-melon
(3) Apple (4) Banana
Musk-melon in north India is sown in:

(2) April-May

(3) June-July
(4) August-September

Seed-rate of bottle gourd for summer crop is:
1) 2-3 Kg/ha.

i

(3) 6-7 Kg/ha.
(4) 8-9 Kg/ha.

Family of carrot is:

(1) Umbelliferae
(2) Solanaceae
3) Cruciferae

|

The average yield of turnip/ha. is:
1) 50-150 Q.

|

(3) 250-350 Q.
(4) 350-450 Q.

31.

32.

33.

34.

35.

37.

38.

39.

40.
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e Mf F @GN T G L
(1) uRafda i
(2) aRafdd g
(3) uRafda o
(4) uRafda s

I B G HEA B A 8
(1) 2-4Kg

(2) 5-7Kg

(3) 8-10Kg

4) 11-12Kg

TR HeTH ol &:
1) @
(2) ¥
(3) &
@) =

3 B A iy qer oW e

(1) 200 I (2) 400 7
(3) 600 M (4) 800 7™

ot et frea sl @

(1) e
(3) Hxm

@) e (2) &g
(3) T (4) e

S ARG & TR I W T &
1) wEd-am
(2) -

(3) S-S
(4) FRG-TIT=R

M HAT A P So-TK &
(1) 2-3 f.am. /2.
(2) 4-5 f.am./2.
(3) 6-7 f.am. 2.
(4) 8-9 .M. 2.

ToR H AR B &
(1) ST

(2) A

@) F B

(4) T

g™ W I9 (o) ofy B, 2 &

(1) 50-150 .
(2) 150-250 3.
(3) 250-350 3.
(4) 350-450 3.

(2 a8
(4) &g
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41.

42.

43.

44,

45,

46.

47.

48.

49.

50.

Serious damage due to shoot and fruit borer is in:

(1) Okra
(2) Turnip

iSi Chillies

Cauli flower originated in:

(2) China

(3) India

(4) Australia

Nitrogen fertilizer in tomato should be applied as:

(1) Total fertilizer prior to transplanting

iZi Total fertilizer after transilantini

(4) 50% fertilizer prior to transplanting & 50% at first
harvest

Pride of India is a variety of:

(1) Turnip
(2) Cauliflower

i3i Knol Khol

Botanically litchi fruit is a:

(2) Pome
(3) Berry (4) Drupe
Kalmegh is a variety of:

(1) Sponge gourd
(2) Brinjal

(3) Pea
(4) Sweet Potato

Excretory material of insect is:

1) Urea (2) Alanese
(4) Ammonia

Ligament joins:

(1) To muscles from bone
2) Muscle to muscle

(4) Muscle to cartilage

Silver fish is:

(1) Insect (2) Mollusc

(3) Crustacean (4) Fish

The main enzyme present in gastric juice is:

(1) Lipase
(2) Nuclease

iSi Amilase

41.

42.

43.

44.

46.

47.

48.

49.

50.
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T T & S8 9 AR oW fhad o &

(1) P
(2) A=
(3) B
@) FH

B A PSR M L
(1) d=™
@ 9=
(3) WG

(4) Frgfern

TR § IR A & iy @

1) YU IRE AT & g

(2) TU IRE U9 & a°

(3) 50% I AT & 4 AN 50% TH e &

(4) 50% I AIT & 4 FAN 50% T ST & T

‘Tée 3% gPeAr fhEw T @
(1) 9o

(2) g
(3) e M
(4) U M

JEEfe® T F = B OwA
1) T (2 =
) T (4) g9

FW AY hEE T &
1) %

(2) FH

@) 7

(4) AR

T H Il & ®:

(1) g (2) Yot
(3) I® TEE (4) TR

R Sear &
Q) YA
(2) Ut @ A |

Q) #Eaeda
@) 3 IRy q

w| (Silver) el B &

1) e (2) A
(3) M (4) w8
Sex @ § Sufed we Ty §:

(1) e
(2) grRmes
(3) UHESS
(4) uRET
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51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

Which is mismatched:

ili Leiidoitera — Butterfly

(3) Coleoptera — Beetle
(4) Apterygota — Lepisma
Which of following is not warm blooded animal:

(2) Rat
(4) Kangaroo

(3) Bulbul

Brunners glands are situated in the:

ili Toniue

(3) Small Intestine
(4) Liver
Which of the following does not possess red blood:

iZi Snake

Which animal does not possess four chambered heart:

(1) Man iZi Horse

(3) Rabbit
In Haber’s process for the manufacture of ammonia,
the catalyst used is:

ili Fineli divided Ni

(3) Finely divided Platinum
(4) Finely divided calcium
The formula of gypsum is:

1) MgS0,4.2H,0

(1) Earth worm
(3) Fish

(3) 2CaSO,
(4) CaS0..3H,0

The IUPAC name of the compound “CH, = CH," is:

(1) Butane-1
(2) Hexane-1

i3i Decene-1

The division of nucleus is known as:

ili Cﬁokinesis

(3) Anaphase
(4) Metaphase

A true fruit develops from:

(1) Only thalamus
(2) Only nucellus

(4) Only ovule

51.

52.

53.

54.

55.

57.

58.

59.

60.

[A-6]

GET IT ON
Google Play

F-a1 Gl T B
(1) AR - focelt
(2) W - e

(3) ey - fafew
(4) TwHFMer - e

=1 & @ A-|1 g ST TH A T 8

(1) & @
(3) I (4) TS
TR it e A §

(1) FrEn

(2 fEeie™

(3) 81 &

4) fer

e @@ wH el e

(1) Fgam (2) |
(3) it (4) FHA

R g # 91 #IeF A &T T E

(1) ¥ (2) ot
(3) G (4) WS

X iy T omitEm & Fmiw # SRS # Fd X &
(1) T Mied

(3) & wife™
(4) % dfewad

e 1 9 ©

(1) MgS04.2H,0
(2) CaS04.2H,0
(3) 2CaSOy

(4) CaS0..3H,0

“CH, = CH,” 9% # IUPAC W &:
(1) e=-1

(2) THH-1

(3) H9-1

@) &1

% P e HEwr &

(1) aEEHEAE
() FRAFEATE
(3) Ys=EER
(4) |

T A% B [ el &
(1) ®ad gorEd §

(2) Fad q9UEHE o

(3) Fad STUSII™ q

(4) *ad S
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

Meiotic division takes place in:

1) Leaf (2) Stem
(4) Root

I

Vessels, tracheids, wood fibres and wood parenchyma
are the components of:

(2) Phloem
(3) Medullary rays
(4) Cortex

The stomata are shrunken in:

(1) Hydrophytes
2) Mesophytes

(4) Halophytes

In green plants, photosynthesis occurs in:

(1) Ribosomes
2) Mitochondria

(4) Nucleus

Which one is a short day plant:

ili Tomato

The edible part of coconut is:

(2) Pepper
(4) Sunflower

(1) Epicarp

iZi Mesocari

(4) Endocarp

When phloem and cambuim are present on both sides
of xylem, the vascular bundle is called as:

(1) Radial

iZi Collateral

(4) Concentric

Name the family of watermelon:

(1) Malvaceae

iZi Leﬁuminosae

(4) Crucifereae

Oryza sativa is the botanical name of:

(1) Maize (2) Rice

(3) Potato (4) Tomato

The nitrogen fixing bacterium is:
(1) Escherichia

iZi Diilococcus

(4) Hemophilus

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.
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@) wi () @ ¥
@) g9 d (4) & |

e, SReFEd, #1% dg iR #S T5S FE9d o
(1) & %

(2) wEH %

(3) Ag o &

(4) FH %

wWiaer 99 a9 &
(1) Siighe §
(2) weRRE §
(3) gehiERE d
(4) wEviERE |

& Ve F yeprar AR BAe B
(1) EEEr §

(2) =g |

(3) eftwevrh

(4) = |

BIF-T ST TR e @

(1) =X
(3) TR

TR F G T &
(1) R

(2) HeArwN

(3) e

(4) TRRl

9 A iR IfeEw SEEW (3%) $ AN SR B B ar
TR IS el R &

(1) Srs=E

(2) BT

(3) BT

(4) G

TES & FA W A AR
(1) e

(2) g
(3) FHHUaHE

(4) FHEA

SiRgeT Afear aFefos AW &

(1) HeEt A (2) 99 #
(3) oy @ (4) T &=
o Rl e &

(1) TRt
(2) <emEd
(3) oTeRFR
(4) fenifteas

(2)
(4) g
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71.

72.

73.

74.

75.

76.

7.

78.
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SECTION-B

1085 books can be packed in a carton. If the no. of
cartons is 90 then how many books are needed to
pack all the cartons?

(1) 10770
(2) 97965
(3) 34390
(4) 97650

What will happen to the area of a rectangle if its length
is doubled and breadth is tripled?

(1) 5 times more the area of the old rectangle
(2) Area will remain the same

(3) 6 times less the area of the old rectangle
(4) 6 times more the area of the old rectangle

A farmer borrowed ¥ 2400 at 12% interest per annum.

At the end of 2% years, he cleared his account by

paying ¥ 1200 and a cow. What is the cost of the cow?

(1) T3120
(2) %2350
(3) 1920
4) 2120

55% of the population of a town are males. If the total

population is 64100, the pOpué%tki)osr(]:r?kf)ef)e g\l/\?ﬁA.Sg:
(1) 35255
(2) 28845
(3) 30295
(4) 29835

The incomes of A and B are in the ratio 3:2 and their
expenditure are in the ratio 5:3. If each saves Rs. 1000,
A’'s income is:

(1) %4000 (2) T 5500
(3) %6000 (4) T 3500
5625+75+Vx=96. Find X.

(1) 361 (2) 400
(3) 441 (4) 484

What is the eligibility criteria for age for election as
vice President of India?

(1) Should have completed the age of 35 years
(2) Should have completed the age of 30 years
(3) Should have completed the age of 25 years
(4) Should have completed the age of 32 years

Which of the following was not written by Kalidas?

(1) Kumar Sambhavam
(2) Laghujatakam

(3) Meghdootam

(4) Raghuvansham

71.

72.

73.

74.

75.

76.

78.
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(1) 10770
(2) 97965
(3) 34390
(4) 97650

I B BT 1 & AT IR T T=E G @ AR
T T & Sme?

(1) QX S & &%l & 5 AT SR

(2) &% 98 W

(3) U A & &HA H 6 AT HH

(4) QU ST & &GS 6 AT SR

& fHEN Y 2400 BT 12 w9 # & & SUR fEm 2%

T B F A 1200 TIC T TF MY IF I A eae
bl e T B B v e

(1) 3120
(2) T 2350
(3) T1920
(4) T 2120

TF H& H G H 55 Hd gEN 81 AR FA e
64100 B, T AfwreT B TS 1 erm:

(1) 35255
(2) 28845
(3) 30295
(4) 29835

A TH B # T # STGUW 3:2 B T I Gl Bl STIIA
5:3 81 IR} Y@F 1000 I P F97 FQ & A A 3 FAHEA
foret Bi?

(1) %4000
(3) T 6000

(2) 5500
(4) % 3500

5625:75+Yx=96. X % WM 5 HL:

(1) 361 (2) 400
(3) 441 (4) 484

A & SY-TGUN B A 3F 99 H ST AFES 1 82
(1) 35 a¥ & Y T & =AM
(2) 30 @ FH MY T & =AM
(3) 25 @ & MY I & =AY
(4) 32 T FH MY T S =AM

i & PF-o1 wiveE g/ 7@t R @ R
(1) FER T9aH
(2) TGSIIRA

(3) TEgeH
(4) g™
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79. Theterm “Bull” and “ Bear” is related to: 79. UE ‘G’ qun ‘“eafe” el weiea &
(1) Share Market (1) P IO
(2) Horse Racing 2 ge-<Ie
(3) Taxation (3) =X
(4) International Trading (4) STOUSE SR
80. Recently Padam Bhushan was awarded to which two 80. B & # R & RewgHl &t 9&q queT Q&R f&ar
sportsperson: (1) 9.9 95 oo el ey
(1) M.S. Dhoni & Kidambi Srikanth (2) TH.TH. g T& bt STrEamt
(2) M.S. Dhoni & Pankaj Advani (3) TH.UH. gl T§ HHad 2aRET
(3) M.S. Dhoni & Somdev Devvarman (4) TH.UH. g1 1§ favre @

(4) M.S. Dhoni & Virat Kohli
81. A stick immersed in water appears bent due to the 81. TRl & gﬁi’é s 891 5 gl @ FRer g §?{' i S 3

phenomenon of: 1) ST WEadT

(1) Reflection of light (2) TR H fqaaH

(2) Diffraction of light (3) SIS T STIFE

(3) Refraction of light (4) SIS BT TBIT

(4) Dispersion of light
82. Rovers cup is associated with 82. ¥ #9 fHEY wEfaa &

(1) Badminton (2) Cricket 1) e (2) Brbe

(3) Hockey (4) Football (3) el (4) ged
83. If ‘MEDICAL' is written as ‘DEMILAC’ how is 83. & ‘MEDICAL’ ® ‘DEMILAC’ forar oram & @ Sol e &

‘SUBJECT’ written is that code? ‘SUBJECT’ &I ¥41 fevam stam?

(1) BUSJETC

(2) BUSTCTE (2) BUSTCTE

(3) BUSJTCE (3) BUSJTCE

(4) BUJSCTE (4) BUJSCTE

DIRECTIONS: In the following question find the one which is [est: Ffafad 77 § I& @ & o gadt @ B 2h

different from the rest.
84, 84.

(1) Sun (2) Venus Q) @ (2) 99
(3) Saturn (4) Mars (3) wf (4)

DIRECTIONS: Some equations are solved on the basis of a certain  f2¥: F® Fi#T fll fitad Tefd & oMaR W & B M@ 2
system. On the same basis, find out the correct answer from J& HI TR HFA [ e A wet A o e R T EeeR
amongst the four alternatives for the unsolved equations in both & T e o) el & Tl I A

these questions. 85. a=11(242) 121
85. a=11(242)121 b = 14 (392) 196
b = 14 (392) 196

c=13(?) 169
c=13(?) 169 (1) 182 (2) 338
(1) 182 (2) 338 (3) 2197 (4) 3196
(3) 2197 (4) 3196

86. Three views of a cube following a particular motion are 86. &9 St f% % fafire 7y & ¥ & &9 g0 @ ¥ ™ &

@D S 5g

A % Rda H-a1 emR §7
What is the letter opposite to A? 1) M ) P
1 ™ (2 P @) B (4) H
B B (4) H
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Find the number in the given figure at question mark 87. R feedl @ e 9 R U gTaes B ®@E W e

place from the given responses.

/i

30 21 18

? 24
33 27,
27 30 21
24
(1) 16 ) 26
(3) 36 (4) 39

Among school teacher, find out science teacher who
is the member of examination board.

School Teacher

Examination Board Member

L science Teacher

@) 5
() 4

@) 7
(4) 6

Which of the following comm4RES IREGNRAY 16 LBy

the computer?

(1) Citrl + Alt + Del
(2) Ctrl+Alt+ Tab
(3) Ctrl + Shift + Del
(4) Ctrl + Alt + shift

What is the extension used for batch files:

(1) .obj (2) .dat
(3) .bas (4) .bat

A half byte is known as:

(1) Nibble

(2) Data

(3) Bit

(4) None of these

What do you press to enter the current date in a cell?

(1) CTRL +; (semicolon)

(2) CTRL + SHIFT + :(colon)
(3) CTRL +F10

(4) CTRL +F11

A shift register is a:

(1) Random-access memory

(2) Sequentially accessed memory
(3) Read-only memory

(4) Content-addressable memory

[ A-10]

88.

90.

91.

92.

93.

A
/N
21
30 /4, 21, \18
33 27
27 30 21
N/
(1) 16 (2) 26
(3) 36 (4) 39

e e & @ fem 3 Ree sad st wlen S @
W B

CRISERELEET

@) 5
() 4

R GEHT B R Pt § @ Bl i & T B

(1) Citrl + Alt + Del
(2) Ctrl + Alt + Tab
(3) Ctrl + Shift + Del
(4) Ctrl + Alt + shift

(2 7
(4) 6

9 wEq 3 U -1 TR g A &
(1) .obj (2) .dat

(3) .bas (4) .bat

B FEE H ST ST &

(1) =

(2) =1

@) fe

4) =8 q P T

frelt ¥ ¥ oo ) T & W B g o9 F T E?

(1) CTRL +; (semicolon

(2) CTRL + SHIFT + :(colon)
(3) CTRL +F10

(4) CTRL+F11

w R oo @
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94. Conceptually, the circuitry of a central processing unit 94, HeUHH® &9 = O @S (CPU) H aRuEar &
(CPU) can be subdivided into two major sub-units. A @ IG-THH A Y- R S aewar 21 i

Which one of the following units would perform the
required arithmetic and comparison operations:

(2) Control unit
(3) RAID unit
(4) Fuzzy logic unit

THH 7 QB G OHS qiea AR T GerTTd e
FM:

(1) ALU

(2) FE=T s

(3) RAID T%

(4) & T THH

GENERAL ENGLISH

DIRECTIONS: Choose the correct passive voice of the sentence given in the question.

95. Deepa swept the floor yesterday:

ili The floor is sweit bi Deeia iesterdai.

(3) The floor had been swept by Deepa yesterday.
(4) The floor was being swept by Deepa yesterday

DIRECTIONS: Choose the correct preposition and fill in blanks.

96. Ram killed the snake .......... a stone:

ili Bi
(3) From
(4) Through

DIRECTIONS: Choose the correct preposition and fill in blanks.

97. Heis superior ........ me:

ili Than

(3) From
(4) With

DIRECTIONS: The following idioms is followed by alternative meanings of which one is correct. Write the correct option.

98. A stormin atea cup:

(1) Great noise
(2) A danger signal

iSi Uneercted event

DIRECTIONS: Fill in the blank in the following using the correct article.

99. ... man who is standing there is Mohan’s uncle:
1 A

iZi An

(4) None of these

100. Find the correctly spelt words.

(2) Attantion
(3) Attension
(4) Attenson
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